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13.3.1
26a ("8 mawp) 2 27b (07® 17273 27777 73)

L 8 mwn: Brothers and Sisters (-1 nvawn, which are printed here, will be summarized on later pages
where the X11)’s discussion about them is taken up)
a. setup: Brothers #1 and #2 (of 4 brothers) married sisters #1 and #2 and died;
b. case: Sisters #1 & #2 fell to brothers #3 & #4
c.  ruling: both brothers give n¥%n only
d. consequences: if they did ma», we enforce separation
i. dissent: X" maintains that n”2/v"a disagreed:
1. ®”z they may stay married
2. 77z forced separation
e. reasom:
i. possibility #1: npr w7 ; each sister is "MP1pr MNR—>he may marry neither
ii. possibility #2: np>r PR (1"7); but Pn2> NN¥n 5019 MoK:
1. concern: brother #3 will do m1a» on sister #1, then brother #4 will die and sister #2 will go free
without any tending to brother #2’s household
2. challenge: why select case of 4 brothers, wouldn’t this concern exist with only 3 as well?
3. response: correct — more surprising ruling presented — even with 4 (i.e. nnm} jpw»n)
4.  challenge: why not raise concern with 5 brothers?
5. response: we aren’t concerned about 2 of them dying at that point
1L New case (testing njp>1): 5 brothers, 3 sisters:
a.  Setup: Brothers #1,2,3 (of 5) are married to sisters #1,2,3
b. Case: Brothers #1,2,3 die
c.  a7sruling: B4 gives n¥Yn to S1, B5 gives n¥'Yn to S2 and B4 & B5 give nxon to S3
i. deconstruction: based on Nyt ; S3 has a np’1 to both B4 and B5
ii. challenge: all 3 of them should need n¥’>n from both B4 and B5
1. reason: 27 holds that pnxn 93 Y 7Y NI NHDA XN (see below)
iii. rather: Brothers didn’t die simultaneously:
1. first: B1 died, Sl fell to the rest, B4 gave n¥'%n
2. second: B2 died, S2 fell to B3-5, B5 gave her n¥’n (B4 could not, since she is 1nxyn mnx and
his options are limited to n¥'Yn, the nxon is “weak”)
3. third: B3 died, and neither B4 nor B5 can do a full n¥*Yn because S3 is Dnnw n¥vn mMny
4. note: this ruling is premised on the notion np’1 v, which 11 (earlier, 1:) rejects
5. answer: his ruling is on behalf of the position np’1 2
d. Sxww's ruling: B4 may give nxon to all 3 sisters
i. challenge: YR1w maintains that a full n¥’%n is always needed
1. source: 2 sisters married to 2 brothers; both brothers die, leaving 1 living brother
2. Sxw's ruling: if the brother gives nxon to the sisters, their mAx are not released
3. therefore: B2’s n¥'Yn (after having given n¥'9n to the 1% sister) should be “weak”
ii. answer#1: referent is to the 3 sister — only 1 brother needs to give n¥'on
1. reason: YRnw maintains that “weak” n¥'9n doesn’t necessitate “covering all bases” by having
all brothers perform nx’9n
iii. Answer #2: YRnW opinion about “weak n¥9n” is only vis-a-vis releasing the nax
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III. Reevaluating 8nv’s ruling:
a.  Ruling: if the brother gives n¥'9n to the sisters, the m1x aren’t released (but the inverse works)
i. Analysis: why distinguish between the sisters and the n1x?
ii. Answer#l: YRnw is referring to the position npt PR (even though he maintains np’r w)
iii. Challenge: if so, either wife’s n¥9n should release the other
iv. defense: only refers to 2" wife’s nqx
1. for example: if S1 gets n¥ YN, then S2’s n¥Yn is ‘weak’ and her n1¥ is not released
v. challenge: since there is an MO’R against 119N Na1p N, the Mx of 52 is “knocked out” after he gives
n¥Yn to S1 and therefore his n¥’on of N S2 is “weak’ and shouldn’t release S2
vi. defense: Yxnw referred to sequence:
1. I¢: if he began (n¥’Yn) with the sisters, he shouldn’t complete it with the m"x as per above
2. 27:if he began with the n11¥, he may even complete it with the n¥
a. reason: ANHYN NIX NAIPI DIR AN
vil.Answer #2: ("WR 17) the np1 isn’t strong enough to equate the M1 to the index may
viii.Answer #3: (onn 72 Rar ") this follows w”a who do not equate nax::my
1. challenge: if so, they should have m21» as an option
2. defense: we follow 1”27’s suggestion to promote n¥’%n in order to cover n"21 v"a
b. Ruling: if the brother gives n¥9n to the 'v3n nYy3, the Mmax aren’t released (but the inverse works)
c. Ruling: if the brother gives n¥"9n to 1nxn nYv3a, the n11x aren’t released (but the inverse works)
i.Question: which takes precedence:
1. lemma 1: 030 ny3, since she has started the route of n¥’>n OR
2. lemma 2: RN nYya, who is “closer” to nx»a
ii.Answer: since IMRN INR VN VI INR RN W), neither is strong enough to block the other> they are equal

L A Apa> to whom the b2’ gave a vI— she now has a “weaker Ap*r" than the other wives
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